EARAROBREBRT —5 XN—ZXBISH—F 2023598228 (&) 130REE3H

B C 54 SRR BRI
[KE%E] 1 &:450,000F ~ 2%&:158,000H  337#%&:90,000M  43%&:68,000H ~ 53&:45,000 H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
- N i : -2-2- - BrlE—A (&HR)
1 4| F—A—v vz o4 | EE 1.(3_3).5 2-2-2-2 |39.7 1 (4355) Bl
RIRIIRTFA v IO UT— B:F—F—UAFlb PF AT
[P TGN FHI5EiE : -4-4- - BHES (BEE)
1 « FARPZ%: A, 4 g% i B L5 P Y |Usst
RiFA—IIIRAF4 B:FIWILYF BRI7—A
X KlmEsE . 11— — Bt (fEE
317010l /=T WETFIL #o4 | K 1(93?:; 1-1-1-1 | 40.4 4 (433; N -—:( )
R:Z5TU—=F4 HF:T77—E3VR NIERTT7—L
LR = 1:39.3 9-10-9-8 [39.9| - 7 | M8 |BiF (BEE)
415]6 IE+hryR 54.0 (1172 (-1) |MERBALE
RIRIIATAvIIFUT7— B:7AFY—UTL FRIUS
— B4 | KBS 1:39.6 8-7-7-5 405 — | 5 | 469 [PHBEF @HE
5|8[11|FF/N—hxIL 5.0 (1172 G | At
RN—EVIv— B:E5T4—3X LIP3
- REARAER . rE_ — BHEE (RER)
6lsls|+9 /900y o6 | B 1.{12(;.0 5-5-5-3 | 41.0 1 (4+320) ek
RIIZRTVFLY BIXASILNYTY B f—
< sy - LU : 8- - HFHE— (BB
Mg TVYTILDY AR i A ’ ?838) s o
R:STU=FA4 B:tA5 1ERRRUS
N \ FAMTE . 6-6- - BHSEH (BEE)
8l7|9|F—N—D117 A ES e | o e P& mEn
RiTJT/—=X/ B:ZERUVEA #HEI77—LA
R . . T : -11-11- - Brlh—% (258
9 3| #LATZI—R %5 | PR 1.?31).2 12-11-11-11| 41.1 10 (4+633) B 2
RiI=ZJRLUY N B:L—RFTRI—R EANS
44 | XEEXR 1:41.7 3-3-39 |42.8| -— 6 405 |HLEE (@EE)
10/8|12| XA TARAI 54.0 @ 172 C | mE
R:T—ILRI—R B:FLSYRVT HKH =&
S e~ P . =g 41, -9-10- 2 - SEY (BEE)
10| vrvityn—y % 7 | ETH 1(941:? 10-9-10-10 | 42.2 9 (ﬁg) ot
RiFVyvH /¥ B:HVIF—5 e
SR st 7 | BHRA 1:42.1 11-12-12-12| 41.6 | — 12 | 435 |RB=EX (&EHE)
1201121k 5.0 (1172 () | mErm
R:IAFV v L BNV v HO%E
® I1—JF—BEEIEfI
1T=zr= 10,4,12,7,5,9,8,11,6,2,1,3
23— — 10,4,12,7,5,9,11,8,2,6,3,1
Sal=zr= 10,4,12,7,5,9,11,8,6,2,3,1
43— — 10,4,5,7,11,9,8,6,12,2,3,1
o ILRE
B B 4 290M JA R 4-7 240 % 5E 4-6 400M 3EE 4-7-10 1,530
7B B 4 120 4-10 500/ 5B E 4-7 670 3EE 4-7-10 4,890H
7 1304 7-10 470 BB 4-7 910
10 140

ABIC OV TRUTEREERRODDZE. THRIIZEL.



